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2015 = =0l & LA SMHSZIHAIZE2SIARA

SN SUHSCHABBARL
HE: SMSEHAR 58X 29
S sMEE

", OHAIE 22l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SMSTHAZ2IMEL 474,203 460,647 13,556
SMHEZHANE 288 29 444,989 431,749 13,240
SMST0AIE 22 417,119 395,879 21,240
SMESTHAIE AlES2el 301,815 290,575 11,240
201 Let24dy] 290,415 269,175 21,240
01 At 2teltl 19,833 19,833 0
O1 Let=EHl 19,833
> S AIJEA OFM 2 A} 300,000& =13l 300
>Egel HIIZA 100,000& * 13l 100
DAMS OHEEZ 48 (4. 5HEHI)
1,600, 000& *23| 3,200
> EIISESH FIIHA
1,050& =1, 060kw*13] 1,113
D&IIotA 2te| CHEd 1,260,000& 128 15,120
02 =224l 270,582 249,342 21,240
O1 3322 2 AMA 182,190
DEIQB(LEE-BHE, SAxY S)
10,350,000& =122 124,200
PEINRS(sAS-H2HED)
670,000& x12& 8,040
Dadt=E 23 3,000,000& x12& 36,000
DAY ESIHI (Y, AE S 2R
100, 000& * 13 100
DIOFAAD MY & B8
850,000& x 13l 850
PISFLYRES 4,000,000& =13l 4,000
DEIINMXAH S2(AMEAER)
90,000, 000& *10/100 9,000
O2 A=l 66,400
DEAIA 23 5,500,000& x12& 66,000
PHERSE RF 200,000 *2CH 400
O3 Al ZHlI s Xl 21,992
DEEZHC.OMES A SANE=>
440,000& x12& 5,280
DYSIAIE |A22 29 400,000& x12& 4,800
DASESESEI SN2 EY
100,000& *12& 1,200
DAYANE ZSHELEZ 2,000,000& x13l 2,000
>HEIAE FR22 2,000& *1,036kw 2,072
DEHEE A2 80,000& »30CH 2,400
DI 722 120,000 *12& 1,440
DECOHAIE 2201H RAES=(H=D] 2 25
) 50,000& »12& 600
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CHRl: SMST AR 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DESXAH & WHE)| S22
100,000 x12& 1,200
DOIIA D HIEE & HUH 2=
1,000,000 = 14! 1,000
206 M = dl 2,400 2,400 0
01 {2 H| 2,400 2,400 0
OJIAHAEY & RANESE ME
100,000 x12& 1,200
O&IIME 100,000& x12& 1,200
401 Al HI L 2 0HHI 9,000 19,000 A 10,000
01 Al& H| 9,000 19,000 A 10,000
OLSAIE HUHES Z2A 4,000,000 =14l 4,000
OZ0& QHAEZN M EH L HH|
5,000,000& x14l 5,000
SAMSZOAIE EHHA 115,304 105,304 10,000
201 gBt2Ad| 30,235 30,235 0
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O3 A& &H| S XYl 9,500
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ONEEZE S22 s 17,0002 x67 &L 1,139
307 2iz2tol A 80,000 70,000 10,000
05 QIZ2tRE 2 80,000 70,000 10,000
OZAIE SHHe a4
80,000,000 x 14! 80,000
SHZZMAIE 8H 27,870 35,870 A 8,000
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X XH: SHX
L= B D o

ol 24

el

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
02 JIEtE B = 2,679 2,627
OAZA2RY 8,930& 121 +300A| 2t 2,679
Jl2dbl (s HAIE) 13,140 13,140
23t (s 0HAIE) 13,140 13,140
201 Let2d] 5,100 5,100
01 At 22l 5,100 5,100
O1 gt=ZHl 3,420
DREA2IS=SH (AL 108)
285,000 128 3,420
O5 2l 1,680
DOoF2t, S€2% 7,000 40153 x 128 1,680
202 04 dl 4,800 4,800
01 = LH YI 4,800 4,800
OJleg a0l 20,0003 x4 «501x12& 4,800
203 YR =&t 3,240 3,240
02 A& H =& 240 240
OFAJtatY =] 40,000 +62! 240
04 EAS2IYRFLH| 3,000 3,000
FN2ZHRFEHI 250,000 128 3,000




